
ञञ.

ञञञञञञञञ ञञञञञञञ (ञञ-ञञञञञञञञञ)ञञञञ ञञञञ ञञञञ (ञ0ञ0)

/ /ञञञञञञञञञ ञञञञञ/ /
ञञञ5ञ92 )/ ञञ-ञञञञञ / 2022-23 ञञञञ, ञञञञञञञ->ञ2,/ 01 / 2023

ञञञञ‌ ञञञञञञ ञञञञञ ञञञञ ञञञञ ञञ ञञ ञञञञञञञञञ ञञञञञञञ ञञञ ञञञञञञञ ञञञञञ ञञञञञ ञञञञञ ञञञञञ

ञञञञ ञञञञञञञ-ञञञञञञ (ञ0ञ0) ञञ ञञञञञ-ञञञञञ-ञञञञञञ (ञञञञञञ ञञञञञञञञञञ, ञञञञञञञञ) ञञञञञ ञञञञञञञ ञञ

ञञञञ ञञञञञ ञञञञञ ञ.ञ.ञञ. 12 ञञञञञ ञञञ ञञञञञञञञञ ञञञञ ञञञञ (ञ.ञ.) ञञ ञञञञ ञञञञ ञञञञञञ ञञञञञञञ ञञ

ञञञञ ञञञञञ ञञ ञञञञ ञञञञ 2016 ञञ ञञञ ञञञञञ ञञञञ/ञञञञञञ /ञञञञञञ ञञ ञञञञ ञञञ ञञञञ ञञञञ ञञञञञ

ञञ:-

ञञञञ ञञ ञञञञञञञञञञञञ ञञ ञञञञञ

ञ
ञञञञञञञञ ञञ ञञञ ञञञञ/ञञञ ञञ ञञञ ञञ ञञ ञञञञ ञञञञ ञञञञ ञञ ञञञञञञ

ञञञञ ञञ. ञञञ ञञञञ|ञञ ञञ ञञञञ ञञञञ ञञञञ
ञञ. ञञञ

ञञञञ|ञञञञञञञञ.|141...27...|3ञ|ञ4|5|6ञ/1|ञञञञञञञञ ञञञञ ञञञञञञञ 415/2 0.036 0.037 0.0150|3] ञञञञ ञञञञ ञञञञञञञञञञञञ ञञञञञ ञञञञ

ञञञञ ञ ञ ञञ ञञञञञञञञञञञञञञ
ञ ' '

ञञञञञञञञञञञञ ञञञञञञञञञञ ञञ0 ञञञञञञञञञञ ञञञञञञञ
3:|ञञञञञञञञ 2 422 0.105 0.009 0.0037

ञञञञञञञञ ञञञञञञ ञञञञ|4|ञञञञञञ ञञञञञञञ

ञञञञञ ञञञञञञञ ञञञञ
ञञञञञ 773/3 0.065 0.011 0.0045|5|ञञञञञञञञञञ ञञञ ञञञञ ञञञञञञञञञ 773/4 0.081 0.013 0.0053|ञ|ञञञञञञञञ ञञञञञञ ञञ0 ञञञञञञञ ञञञ75 0.040 0.015 0.0062

7.|ञञञञञञञञ ञञञञ ञञञ 776 0.081 0.011 0.0046|8|ञञञञञञञ ञञञञ ञञञञ ञञञ77/ 0.069 0.005 0.0021

ञञञञञञञञ
ञञञञञञञञञञ ञञ0 ञञञञञञञञञञ ञञञञञञ

777/2 0.117 0.010 0.0039

ञञ ञञञञञञञञ ञञञञञञ ञञञञञञञञञ ञञञञञ ञञञञञञञञञ ञञञञ

ञञञञञञञञञञञ 1238 0.089 0.054 0.0222

ञञञ|2||0.206|0.064 0.0261

10|ञञञञञ ञञञञ ञञञञञञञ 777/4 0.069 0.005 0.0021

11|ञञञञञञञ ञञञञ ञञञञञञञ 785/1 0.121 0.008 0.0034

ञञञञञञ ञञञञ ञञञञञञञ 790/1 0.024 0.025 0.0100

2 ञञञञञञ
ञञञञ ञञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञञञञ ञ 6ञञञञ ञञञञ ञञञञञ

ञञञञञञञञञ ञञञञञञ

14|ञञञञञञञ ञञञञ ञञञञञञञञञञ ञञञञञञञञ ञञञ ञञञञञञञञञञ|797/2 0.117 0.100 0.0401

ञञ
ञञञञञञ ञञञञ ञञञञञञञ ञञञञञञञ,ञञञञञञ, ञञञञञञ ,

797/3 0.024 0.006 0.0025
ञञञञञञञ ञञञञ ञञञञञञञ ञञ0 ञञञ ञञञञञञञञञञ 797/4 0.024 0.005 0.0020



797/5 0.020 0.004 0.0017

797/6 0.020 0.004 0.0017

797/7 0.024 0.004 0.0017

ञञञ|5|0.112|0.023|0.0096

16
ञञञञञञञ ञञञञञञ ञञ0 ञञञञञञ ञञञञञञञञ ञञञञ

ञञ ञञञ ञञ ञञञञञञञञ

ञञञञञञञञ ञञञञञञञञञञञञञ ञञञञञञञञञ ञञ0 ञञञञञञञञञञञञ

17|ञञञञञञञञ ञञञञञञञञञञञ ञञ0 ञञञञञञञञञञञ ञञञञञञ ञञञञ 803/1 0.247 0.027 0.0111

ञञञञञञञञञञञ

18|ञञञञञञञञञञञञ ञञञञ ञञञञञञ 803/2 0.121 0.016 0.0065

19|ञञञञञञ ञञञञञ ञञञञञञञ ञञ0 ञञञञञ 1204 0.227 0.029 0.0121|20|ञञञञञ ञञञञ ञञञञञ 1211 0.040 0.021 0.0086

ञञ

ञञञञञञ ञञञञ ञञ0 ञञञञञञ ञञञञञ ञ0 ञञञञञञ ञञ ञञ ञञ ञञञञञञ ञञञञञञञ
' ' '

22|ञञञञञञञञञ ञञञञञञञञञ ञञञञ ञञञञञञञञञ ञञञञञञञञ 1237/3 0.024 0.050 0.0200
ञञञञ ञञञञञञञञञ 1237/4 0.024 0.050 0.0200

ञञञञ-ञञञ0.048 0.100 0.0400

23|ञञञञञञञञञञ ञञञञ ञञञञञञ 1241/7 0.097 0.073 0.0296|2|ञञञ ञञञ ञञञञ ञञञञञञ 1241/8 0.024 0.050 0.0201|»|ञञञञञञञ ञञञञ ञञञञञञ 1241/10 0.040 0.050 0.0200|26|ञञञञञञञञ ञञञञ ञञञञञञञञ 1225/1 0.061 0,030 0.0120

ञञञञञञ|44||2.605|0.924 0.3749

ञञञ ञञञञञञञ ञञञञ ञञञञञञ ञञ ञञञञ ञञञञ ञञ ञञञञ ञञञञञ ञञ ञञञञ ञञञञ 2016 ञञ ञञञ

ञञञञ ञञञञञञ ञञञञ. ञञञञ ञञञञ ञञ ञञञ ञञञञ ञञञञञञञ,/ञञञञञञ ञञ ञञञ ञञञञञञ ञञञञ ञञ ञञञञञञ ञञ ञञञञ ञञञ ञञञ

ञञञञञञ ञञ ञञ ञञञञञञ .).5..ञञ.:2:%ञ <-3.ञञ ञञञञञञञञञञ ञञञञञञञ (ञञ.) ञञञञ ञञ ञञञञञञञञ ञञ ञञञञ

ञञञञञञ ञञञञञ ञञञ ञञ ञञञञञ ञञञञ ञञञञ ञञञञञञञञ ञञ ञञञञञञ ञञ
ञञञञञञञञ ञञ ञञञञ ञञञ ञञञञ ञञञञञञ ञञ

ञञञञञञ ञञञञञञ ञञ ञञञ ञञञञञ ञञञञ ञञञञ ञञञञञञञ

ञञ ञञञञञञ....220 ञ ञ. 2 ञ-ञ ञञ ञञञञ ञञञञञञञञञ ञञ ञञञञ ञञञञ ञञञञ

ञञ
(ञ.ञ.)



ञञञञञञञञञ/ ञ> 2-./ ञञ-ञञञञञ / 2023 ञञञञ, ञञञञञञ “ञ20/ञ) /2023
ञञञञञञञञञ,

1. ञञञञञञ ञञञञञञञञ ञञञञञञञ ञञञञञञ ञञ ञञ ञञ ञञञञञञञ ञञञ ञञ ञञञञञ ञञञञञञ ञञञञञ ञञञञञञ ञञञञञञ

ञञ ञञञञञञञ ञञञञञ ञञञञ ञञञञ ञञञञञञञञ ञ

ञञञञञञञ ञञञञञञञ ञञञञञञ ञञञञ ञञञञ ञञञञञञञञ ञञञञ ञञ ञञ ञञञञञञञञ ञञ ञञञञञ ञञञ ञञ ञञञञञञञञञ

ञञञञञ ञञ ञञञञञञञ ञञञञञ

ञञञञ ञञञञञ ञञञञञञञ ञञञञञञञ ञञञ‍ञञ,/ञञञञञञञ-ञञञञञञ ञञ ञञ ञञञञञञञ ञञञञञञञ ञञ ञञञञञ ञञञञ

ञञञञ ञञञञ ञञञञञञञ |

ञञञञञञञञञञ ञञञञञञञ (ञञ) ञञञ ञञ-ञञञञञ ञञञञञञञ ञञञञ ञञ ञञ ञञञञ ञञञञञञञञ ञञ ञञञञञ ञञञ ञञ

ञञञञञञञञञ ञञञञञ ञञ ञञञञञञञ ञञञञ |

ञञञञञञञञञ ञञञञञञञ ञञञ ञञञञञञञ ञञञञञ ञञञञञ ञञञञञ ञञञञञ ञञञञ ञञञञञञञ-ञञञञञञ (ञ0ञ0) |

ञञञञञञञञ ञञञ ञञञञञञञञञ ञञ ञञ ञञञञ ञञञञञञञञ ञञ ञञञञञ ञञञ ञञ ञञञञञञञञञ ञञञञञ ञञ ञञञञञञञ

ञञञञ |

ञञञञञञञञ ञञञञञ ञञञञञञञञञञञञ
ञञञञ ञञ ञञञञञञञञ ञञञ ञञञञञञञञञ ञञञञञ ञञ ञञञञ ञञञञञञञञ ञञ

ञञञञञ ञञञ ञञ ञञञञञ ञञ ञञञञञञञञञ ञञञञ ञञञञ ञञञञञञञ |

ञ(ञ.ञ.)


